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% | A B | %8 JKoK oFF] v FNo. NBA—F B 215 IE
1 48218 £ | 1000 | 211 AHF VS AEN BT Al dl)
1 48218| £ | 12:30 | 212 B E VS  BAKME | EREW B AF
1 48218 £ | 1000 | 213 BE= VS FEE BT B = B Y
1 48218 £ | 1230 | 214 % [ Y VS EEE B BE= TEE
2 | 48288 £ | 1000 | 215 BAER VS BEE= BT BEE= T8
2 | 48288 £ | 1230 | 216 iR VS AF B B = BE=
2 | 48288 x | 1000 | 217 EEE VS B Em FER™ B R B [E
2 | 4g288| £ | 1230 | 218 | BmXKME VS 2% [ Y R BEE BEE
3 | 48308 A 10:00 | 219 B [ER VS AEA A FHT AEN BXME
3 | 4B30R| H 12:30 | 220 A5F VS BAME | BFH BAEA Al
3 | 4B30R| H 10:00 | 221 B% [ Y VS FEE FER™ BEE R BB
3 | 48308 B | 1230 | 222 B = VS EEE ERM EEE T
4 5838 K | 1000 | 223 | BXKE VS B = B h B = AF
4 5838 K | 1230 | 224 B2 VS AF B B = W=
4 5838 & | 1000 | 225 FEE VS B Em BT % [ = B [E
4 5838 K& | 12:30 | 226 BEA VS B[] Y 24k il EREE
5 | 58128 x | 1000 | 227 A5F VS 2% [iE] 7Y BEEH Al BE=
5 | 58128 x | 12:30 | 228 BE= VS B BT % [ = B [E
5 58128 x | 1000 | 229 | BmXKME VS T = AEN BEN
5 | 58128] £ | 12:30 [ 230 el VS BAEN BFH BEN BEXKHE
6 | 68238 x | 10.00 | 231 TEE VS R FERT B = 5F
6 | 68238 * | 12:30 [ 232 B ERE VS BF FER™ B = B
6 | 68238 £ | 1000 [ 233 AEN VS BEXME | &FHE AEN 23Rl
6 | 68238 £ | 12:30 [ 234 % [F VS EE= EFH BEN BEXKHE
7 | 68A308| x | 1000 | 235 AF VS BEE= BT BEE= Al
7 | 68A308| x | 12:30 | 236 BE[E VS B BT B = =F
7 | 68A308| x | 1000 | 237 EEE VS BEXME | ERW B = FEE
7 | 68308]| £ | 12:30 [ 238 FiE VS BER FEIR™ EEE R 2
8 7878 £ | 1000 | 239 B2 VS B Y = FH AEN AEN
8 7878| x | 12:30 | 240 AEN VS =F = FH AEN B E Y
8 7878 * | 1000 | 241 T VS BEE= B EH dmE) Al
8 7878 £ | 1230 | 242 | mKXMIE VS Al BT 2dmlE) T8
9 [ 7R148| £ | 1000 | 243 % [ Y VS  BRXKME | =EREh BE= BE=
9 | 78148 £ | 1230 | 244 BEE= VS AEN BT BEE= B E Y
9 | 7148 £ | 1000 | 245 EF VS 4R R BRI = B
9 | 7A148| *x | 12:30 | 246 B ERE VS BREE ERM EEE 4R
10 | 78228 H 10:00 | 247 AEN VS 245 BT 245 =F
10 | 78228 H 12:30 | 248 | BEKME VS =F BT dmE) Al
10 | 7H228| B | 10:00 | 249 BEE VS BEE= ER™ B = B [E
10 | 78228| B | 12:30 | 250 4B VS 2 [iF] Y ERM EEE EREE
11 | 7288 x | 10.00 | 251 % [ Y VS BEMN B [ BE= BE=
11 | 7B288| £ | 1230 | 252 HE= VS BXME | =EREW B = 2% [ Y
11 | 7B288| £ | 1000 | 253 =F VS BEEE BT dmE) Al
11 | 78288| x | 12:30 | 254 B[ VS T BT Al E5F
12 | 8A268| B | 1000 | 255 BEA VS BEE R =FHr BEMN 5F
12 | 8A268| B | 12:30 | 256 B% [F VS BF & FE BEMN B =
12 | 8A268| B | 10.00 | 257 FEE VS BEXME | W BEE= BE=
12 | 8A268| H | 12:30 | 258 edilEl VS EE= B ET EE= T
13 | 98248| A 10:00 | 259 B = VS 2% [ 7Y BT B [E R 5F
13 | 98248 A | 12:30 [ 260 5F VS 2dmE) B[ T B [ =
13 | 98178 A 10:00 | 261 BEFEE VS T & FHE BAEN AEN
13 | 98178| H 1230 | 262 | BEKHME VS AER EFEH AER T
14 | 98228 £ | 1000 [ 263 BEN VS 4B EiR™ B2 B2
14 | 98228 * | 1230 | 264 | BmKAMIE VS B = FERT B = TEE
14 | 98228 £ | 10.00 | 265 BEFE= VS EF B[ T B = % [ Y
14 | 98228 * | 1230 | 266 % i) VS Al BT B = BE[E =




